Division par 10° (G)

492 + 103 =

3,94 + 10° =

5,5962 <+ 103 =

2,34 +10% =

8,89 =+ 10° =

1,402 = 10° =

4,94 =+ 103 =

7 +-103=

4,19 + 10° =

7,3833 + 10° =

Trouvez chaque quotient.

4,8941 + 10° =

1,24 +10% =

3,5543 + 103 =

1,61 +10° =

538 + 103 =

2,902 + 10° =

6,04 ~ 10° =

1,4966 = 103 =

29 +103=

6,5373 + 10° =
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Division par 10° (G) Solutions

Trouvez chaque quotient.

4,92 +10°=0,00492

3,94 + 10° =0,00394

5,5962 + 10° = 0,0055962

2,34 +10°*=0,00234

8,89 + 10° = 0,00889

1,402 + 10° = 0,001402

4,94 + 10° = 0,00494

7 +10%=0,007

4,19 + 10°* =0,00419

7,3833 + 10°=0,0073833

4,8941 =+ 10° = 0,0048941

1,24 + 10° = 0,00124

3,5543 + 10° = 0,0035543

1,61 +10°=0,00161

5,38 + 10° = 0,00538

2,902 + 10° = 0,002902

6,04 +~ 10° = 0,00604

1,4966 + 10° = 0,0014966

2,9 +10°=10,0029

6,5373 + 10° = 0,0065373
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